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OEMA 3°
AAyOpLOuog EATA

Apxn_EmavaAnyng

AwdBaoce Bapog

Méxpig_otou Bapog>=0 kat Bapog<=2000
Apxn_gnavdinyng

AwdBace Mpooplopog

Méxpig_otou MNpooplopdg = “EX” n Mpooplopog = “E=”
Av Bapog < = 500 tote

Av Mpooplopdg = “EX” tote
Kootoc < 2,
AN
Kootog < 4,8
Télog_av
ANww¢_av Bapog<=1000 tote
Av Mpooplopdg = “EX” tote
Koéotog «— 7,2
ANLWG
Kéotog «— 7,2
TéAog_av
ANwwg
Av MNpooplopdg = “EX” tote
Koéotog < 4,6
ANwwg
Kéotog «— 11,5
TéAog_av
TéAhog_av
Eudavioe Kootog
T€Aog EATA




OEMA 4°
AAyoplBuog OAvpmado_MNAnpodoplkig

Mo i ano 1 péxpt 500
AwaBaoe Ofi]
Mo jand 1 puéxpt 3
AwaBaoe B[ij]
Téhog_emavainng
Télog_Emavaindng

Maiamno 1 péxpt 500
sumrow [i] <0
TéNog_emavaAnyng
Mo i ano 1 uéxpt 500

Mo jand 1 péxpt 3

sumrow [i] <—sumrow [i] +B[i,j]
TéAog_EmavaAnyng
Télog_Emavaindng
Mo i ano 1 péxpt 500
MOJi] <- sumrow[i] /3
Télog_Emavainding

Mai anod 2 uéxpt 500
Ma j oo 500 péxpti pe_ Pripa —1
Av MO[j] >MO([j-1] tote
Templ«MOJj]
MO[j] «-MOlj-1]
MO[j-1] «Temp1l
Temp<0[j]
O[j] «-Ol[j-1]
O[j-1] «Temp
AMww¢_av MO[j]=MO[j-1] tote
Av O[j]<0O[j-1] tote
Temp<-O0lj]
O[j] «-Ol[j-1]
O[j-1] «Temp
TéAlog_av
TéAog_av
TéNog_emavaAndng
Télog_emavainydng

Maiomo 1 péxpt 500



Eudavice O[i] , MOJi]
Télog_EmavaAnyng

K«0
max<«—MO[1]
Maiomno 1 péxpt 500
Av MO[i] =max tote
KeK+1
TéAlog_av
Tého¢_emavainng
Eudavioe K
Téhog OAvpmiada_MAnpodopikn



